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'D 1) (No Calculator) The graph of y = f(x) on the closed interval [—3, 7} is shown in the figure
above. If fis continuous on [—3,7} and differentiable on (—3,7) , then there exists a c,

-3<c<7,such that

A)f(c)=0 Q.,_’/\—\’: -2\
B) f'(c)=0 143 YO —f):
&) F(c)=¢
E) f'(c)=-5

B 2) (No Calculator) Let f be the function given by f(x)=x*. What are all values of ¢ that satisfy

the conclusion of the Mean Value Theorem on the closed interval [—1,2]?

A) 0 only ‘HZ-\ - L
Btoly W) e L pr-3.2
C)\/gonly 3 3

D)-land 1

E) —/3 and \3

3&-5 C =\ (= *|

oty (=D



3) (No Calculator) Let f(x) be a differentiable function defined only on the interval
-2 <x <10. The table below gives the value of f(x) and its derivative f’(x) at several points

of the domain.

x—2024‘\6810
f(x)| 26 | 27 | 26 |[23|| 18 | 11 | 2

Fx)| 1| o] -1]l2]]-3]-4]>5

N—

C_,The line fangent to the graph of f (x) and parallel to the segment between the endpoints

intersects the y-axis at the point

A) (0, 27)
B) (0, 28) L-2 0L - -2y - -
6-C2) %
D) (0, 36)
E) (0, 43) poo b= (4,23)
-3 = Sl e =0
\\'l’% = z

\,‘)’,’3\

D 4) (Caleulator OK) Tf f(x)= ‘(x2 - 12)(x2 + 4)‘ how many numbers in the interval -2 < x <3

satisfy the conclusion of the Mean Value Theorem?

A) None
B) One SCI—-/&“\_\ -5
C) Two —

’

E) Four
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